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THE IMPACT IAS ACADEMY

TNPSC Group 2A Test—-6

General English & General Studies

Identify the correct preposition from the option given below
The papers are to be prepared ------- a month
a. within b. by c.in d. for

. Choose the appropriate question tag for the following statement

She hasn’t submitted the note --------- ?
a. hasn’t she? b. doesn’t she? c. has she? d. does she?

. The sometime “Skinned their noses”. What is the figurative meaning of the phrase “Skinned their

noses”?
a. Were upset by failures b. Rubbed the nose accidentally
c. Scratched the nose d. Encouraged by failures

. “I come to bury Caesar, not to praise him” Whose words are these?

a. Antony b. Brutus c. Casca d. Shylock

Match the following characters and the plays they appear

Column A Column B
A. Portia - 1. The taming of the shrew
B. Mark Antony - 2. Hamlet
C. Bianca - 3. The Merchant of Venice
D. Claudius - 4. Julius Caesar
A B C D
a. 1 3 4
b. 2 1 3 4
c. 3 4 1 2
d. 4 1 2 3

. After all, winners don’t do different things, they do things differently. Pick out the right antonym of

the word “different”
a. Dissimilar b. Similar c. Indifferent d. Constant

. After all winners don’t do different things. They do things differently.

The above lines suggests
a. All winners are different b. Winners do different things
c¢. Winners do things differently d. Losers don’t do different things
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Match the titles of poem under Column with the names of poets under Column B and choose the
correct codes.

Column A Column B

A. The cry of the children - 1. Archibald Lamp man

B. A psalm of life - 2. Elizabeth Barrett Browning

C. To a Millionaire - 3. William Wordsworth

D. The solitary reaper - 4. Henry Wadsworth Longfellow
A B
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Match the titles of the stones given under Column A with the names of the author under Column B
and select the correct answer from the codes given below:

Column A Column B
A. The Last Leaf - 1. Saki
B. Two Friends - 2. O’ Henry

C. The Refugee
D. The Open Window

3. Guy de Maupassant
4. Pearl S. Buck

A B C D
a. 1 2 4 3
b. 2 3 4 1
C. 4 1 3 2
d. 3 2 1 4
The story “Caught Sneezing” is adapted from the short story written by ---------
a. O’ Henry b. Robert Frost
c. Bonnie Chamberlain d. Oscar Wilde
Identify the work which is not an autobiography
a. My Experiment with Truth b. Wings of Fire
c. My Story d. Glimpses of world history
The only people who were pleased stay in the selfish Giant’s garden were ----------
a. Spring and Summer b. The Snow and the Frost
c. The Birds and the Animals d. The Trees and Flowers
From the given options, choose the author who has written. “The Return of the Native”
a. Thomas Hardy b. Douglas Malloch
c. Patrick French d. Robert Louis Stevenson

Identify the type of this Sentence :
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The old TV belongs to my sister and, it needs repair

a. Simple b. Complex c¢. Compound d. None of these
Identify the words which blend to form the word ‘Slang’ and choose answer from the codes given
below
a. Slow + Language b. Slovenly + language
c. Sleep + Language d. Slum + Language
The Compound word sewing machine is of the form
a. Noun + Noun b. Verb + Noun c. Gerund + Noun  d. Adjective + Noun
Fill in the blanks choosing the right pair of words in order:
The woman wearing a ------ went to the hotel-------
a. Wail & Veal b. Veal & Veil c. Vile & Wail d. Veil & Veal
Form a new word by blending the words ‘Motorway’ and ‘Hotel’
a. Motohotel b. Mowaytel c. Motorel d. Motel
Match the following poetic lines in Column A with their correct poets in Column B and select the
correct Code:
Column A Column B
A. Stop be silent for today - 1. Walt Whitman
B. O Winged seeds! You crossed

The furrowed sea - 2. H.W. Longfellow
C. Trust on future, however pleasant - 3. V.K. Gokak
D. Exult! O shores and ring, O bells! - 4. Elizabeth Barrett Browning

A B C D

a 4 2 3 1
b 4 3 2 1
c 4 1 2 3
d 3 4 1 2
Select the apt suffix to form the root word Chronology
a. Able b. Ical c. Ity d. Ness
Complete the sentence choosing an option from those given below :
Yesterday ----------- European met me.
a. an b.a c. the d. no article
Fill in the blank with the suitable article

---------- MP is a member of the parliament
a.a b. an c. the d. no error
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Identify the sentence with the wrong question tag:

a. Ramu went to Assam last week, didn’t he?

b. The Australians will not win the finals, will they?

c. People shouldn’t be rude to one another, shouldn’t they?
d. Te bus is early today, isn’t it?

Fill in the blank with the correct answer from the following options.
“The Story of My Life” is the autobiography of ----
a. Albert Einstein b. Winston Churchill c. Annie Besant d. Helen Keller

The first astronaut who stayed in space for the longest of 195 days is
a. Sunitha Williams b. Rakesh Sharma  c. Neil Armstrong  d. Kalpana Chawla

“My first duty on rising is to tender my most sincere and grateful thanks to the students for their
address which they have just how presented to me....... ”?

By whom were these words uttered?

a. Mother Teresa b. Indira Gandhi

c. Gopala Krishna Gokhale d. Mahatma Gandhi

Which of the following literary works does not exhibit the theme of ‘Optimism’?
a. Be the Best b. Keep your spirits high
c. The mark of Vishnu d. Where the Mind is without fear

Read the passage and answer the question that follows:

In building up a strong, free and demaocratic India, open mindedness and constructive approach are
required so that she could make a speedy progress crossing the hurdles of communalism separation
and untouchability. The passage points out that:

a. Communalism, separation and untouchability were prevalent in India, then.

b. India had overcome the hurdles of communalism separation and untouchability

c. India was too open-minded to make a speedy progress

d. India did not need a constructive approach

Laugh till the game is played and be you merry, my friend. In the above quoted lines from
‘Laugh and be Merry’ by john Masefield the figure of speech that occur is
a. Simile b. Metaphor c. Alliteration d. Apostrophe

“Every man may profit by the example of truly great men, if he is bent on making the most of
himself and his circumstances”. This theme is reflected in:

a. “Laugh and Be Merry” by john Masefield

b. “Leisure” by Walter De la Mare

c. “A Psalm of life” by H.W. Longfellow

d. “O captain, My Captain” by Walt Whitman
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“Envy is ignorance and imitation is suicide”

Who said this

a. Emerson b. Gandhiji

c. Swami Vivekananda d. Dr. A.P.J. Abdul Kalam
Identify the sentence pattern:

Brutus is an honourable man

a.SVCA b.SVOC c.SVvC d.SVIODO
Which of the following lines does not occur in William Shakespeare’s works?

a. The evil that men do live after them

b. My deeds upon my head! | crave the law

c. O judgement! Thou art fled to breetish beasts
d. Was it cowardice, that | dared not kill him?

How many line are there in a sonnet?
a. Eight lines b. Eleven lines c. Fourteen lines d. Sixteen lines
A poem of two lines is called a
a. Couplet b. Monologue c. Ballad d. Ode
Match the lines under Column A with the poets under Column B
Column A Colum B

A. Artislong and Time is fleeting - 1. V.K. Gokak
B. And I link a second comer, waiting - 2. H.W. Longfellow
C. O’ tongues of fire - 3.Thomas Hardy
D. Or help to half a crown - 4.D.H. Lawrence

A B C D
a. 3 2 1 4
b. 1 3 2 4
C. 4 1 3 2
d. 2 4 1 3
Identify the speaker:
e not that I loved Caesar less, but that I loved Rome more”
a. Mark Antony b. Casca c. Calphurnia d. Brutus
I shot him dead because-

Because he was my foe.
Give the meaning of the word ‘foe’
a. Companion b. Enemy c. Traitor d. Spy

www.impactiasacademy.com [

AC — 12, 3" Floor, 2" Avenue, Anna Nagar, Opp SBI Bank, Chennai — 600 040
Call : 044 — 43537455 / 09840 557455 : e-mail: impactias@gmail.com




Page6

39.

40.

41.

42.

43.

44,

45.

46.

THE IMPACT IAS ACADEMY

Select the suitable order of compound words for the blanks in the given passage from the options
given below:

-------- | used ------- table on which there was a ------- that took me to -------

a. lifelong, jet black, looking glass, wonderland

b. Wonderland, jet black, lifelong, looking glass

c. lifelong, looking glass, wonderland, jet black

d. lifelong, jet black, wonderland, looking glass

Who said this?

If non-violence is the law of our being, the future is with woman.

a. Mahatma Gandhi b. Mother Teresa

c. Rajaram Mohan Roy d. Subramania Bharathi

Choose the option containing the name of the author and the work in which these lines occur
| was then too young to read and my blood turned cold like the moon

a. Dr. A.P.J Kalam in ‘Vision for the Nation

b. Dr. Neeraja Raghavan in ‘The Sun Beam’

c. Kamala Das in my Grandmother’s House

d. Rabindranath Tagore in “Where the Mind is without Fear’

Identify the figure of speech in the following sentence.
She accepted it as the kind cruelty of the surgeon’s knife
a. Euphemism b. Pun c. Oxymoron d. lrony

Who has uttered these words?
“Friends Romans, Country man
Lend me your ears”.

a.Brutus in ‘Julius Caesar’ b. Mark Antony in ‘Julius Creaser’

c. Cassius in ‘Macbeth’ d. Casca in ‘Macbeth’

To which of the following works in Oscar wilde not associated with?

a. The Happy Prince b. The importance of being earnest

c. The Last Leaf d. The Selfish Giant

Choose the option denoting the speaker and the play from which these lines are taken.
“it droppeth as a gentle rain from heaven

a. Brutus in ‘Julius Caesar’ b. Mark Antony in ‘Julius Caesar’

c. Portia in ‘The Merchant of Venice d. Shylock in ‘The Merchant of Venice

Choose the option containing the author of the following line:
“Where words come out from the depths of truth”

a. Kamala Das in ‘Punishment in Kindergarten’

b. Deepa Agarwal in ‘After the Strom’
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c.Dhar Gopal Mukherji in ‘Kari-the Elephant’
d. Rabindranath Tagore in ‘Where the mind is without fear’

47. Find the odd pair from those given below:
a. The Apology-Ralph Waldo Emerson b. Is life, but a dream?-H.W. Longfellow
c. The flying wonder-Stephen Vincent Benet d. English words-V.K. Gokak

48. Which of the following Plural forms is not correct?
a. Daughters-in-law b. Step-daughters
c. Commanders-in-chiefs d. Strata

49. Choose the correct option with the right words in sequence.
You can------- see the mountains on a ------ sunny day.
a. Prettily, Pretty b. Clearly, clear c. Bright, brightly ~ d. True, truly

50. Choose the option with right combination for the following word:
Snow white
a. Noun + Gerund b. Noun + Verb c. Noun + Adjective d. Noun + Noun

51. The first Acting President of India was?
a. V.V.Giri b. B.D.Jatti c. Hindayatulla d. N.Sanjeeva Reddy.

QhAWMRI 6V (PHET(LPH60 60 FNHSHMeNS WeTMHLISUITS @\(HibSeur WImi?
a. V.V.arl b. B.D.xm1q c. answggieveor  d. N.ggpdal Gy

52. The joint sitting of the Parliament will be preside over by
a. Speaker b. Vice President c. Attorney General d. Chief Justice of India

LM E@BLOTNS S 65T Fal (h Fal L& QFMLfl6v Senevenid eudlLiLiau wImi?
a. suMpmuS b. siemesst WesTTLIG)
C. SEMCVEDLD QULPH(HHDMEHI d. 2. &5 B F6TM Senevsnid LG

53. The maximum number of Anglo Indians who can be nominated to the Lok Sabha are
D&S6Ten6! MU GSHLILIL FJalqul S SLLF Y mHGCeom @il 2 MmN 6Tns6T 618G enesT GLIT?
a. 3 b.2 c.5 d. 4.

54. Which of the following is not correct regarding a Money Bill?
a. It can be introduced in either House of parliament
b. It can be passed by the Lok Sabha even if the Rajya sabha rejects it
c. Itis deemed to have been passed by both Houses if it is not returned by the Rajya Sabha within
14 days
d. It requires the prior approval of the president.
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uessT LEFTST LMHMiw LesTel(hd sammideafev 618 Salm?

a. unymEmeTN &S 60T 61hg eneluiieid il (PSLILINGSLILIL VLD

b. brHevkiGZeeT MITHMASFIWID W&HHETEDAILI6 KleDMEeUMMLILIL_6VTLD

C. rmevkiIGenaTaiey 14 BT &HEHSHEG KHeomGaunMLILIL aleveney 6T65fl60 LIGHTOEFTSHT G)(H
IjemaudaileId MenmEeuNMUILIL L SM& SH(HSLILI(HID

d. uesst BENGM FM&HS6L CFLIILILI(HIGMN @ QeTTHUSUNET (6T enIng CHenel

55. Which Parliamentary committee in India is normally chaired by a Prominent member of the

Opposition?
a. Committee on Government Assurances b. Estimates Committee
c. Privileges Committee d. Public Accounts Committee.

Ll6tTaU(HID 6ThG (GH(WelMD@ LMITEBLETMESSH 6T 6THNGHL_& 2 MIILI6STT Hem606UTTSH @\(HLILITT?

a. Y& 2. MIgls GHUW b. RewTws & W
c. 2 e &) d. QNG| &6wT&(F (FH(LD

56. A bill for alteration of boundaries of states shall not be introduced in the Parliament without the
recommendation of
a. The presiding officers of both Houses of Parliament
b. The legislature of the states concerned
c. Supreme court
d. President.

LOMH 6V S S 63T 6T6V6MEVEMII LOMF TEDOGHGHID WESFTST LIMTTEHETNS S 60 UM (PSUILIHSSHID CLITG)
WIM(HEDL_ULI (LP63T DI EHemeu?

a. uMmEmO6THS S 65T Q)(IH BIEDEUSHEDETUID 61LYI6TTL_GG|LIeMT

b. ©Ihs LMHGS 6T UL FemL

C. 2 &5 K ID6ITMLD

d. menndlLg)

57. When can the Speaker exercise his right to vote in the House?
a. Whenever he desires b. Whenever the House desires
c. Only in the event of equality of votes d. Whenever his party directs.

LietTau(BLD 6Th CHISHSH 60 FLMBMLSGN S6TTERIEHL_IL 6UTHDS: 61Tl &&60MLD
a. el el(mHbLb CuNg) b. wemeal al(mHbLD GUTE)
C. QUM&& FIO H6M6V LD GLIMG) d. sjaumHemLw &g ai(HLh CUITg)

58. Which of the following non-members of Parliament has the right to address it?
a. Solicitor General of India b. Chief Justice of India
c. Attorney General of India d. Chief Election Commissioner.

LesTeu(mLd WMl LIMIMEHL6ETHS S 6T 2 MILILN6TTINS @eveuns CUTSHID, emalulev GLsaSMN (S
2_fMemid 2_6iTermeur?

a. @hglwnaler GlEFeidLii GlzsuTiev

b. @hguneiss 2 &5 1IN FeN6VEDLD QULPH 6D EHIT
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C. @hAWTAINET FEDEVEMD CULPSFHEDTEH
d. $mevend CHNH60 Y,6M6TsTIID

The Constitution of India does not Mention the post of

a. The Deputy Chairman of the Rajya Sabha

b. The Deputy Prime Minister

c. The Deputy speaker of the Lok Sabha

d. The Deputy Speaker of the State Legislative Assemblies.

LlesTeu(hd 6ThSLLIGT @hAwl yrdlwevenolitiiev @GMULIL UL aileveney
a. LMKl EVBIGHETENEULINEIT FHIEDETTTS S6D6VaN

b. glewesst Liggo kSl

C. D&FATEDEIUI 6T &HI6WESsT FLIMHMUISG

d. DMTHev FUL FepLILIN6IT FI606ET FLIMHTLIG

Who among the following decides whether particular bill is a Money Bill or not?
a. President b. Speaker of Lok Sabha
c. Chairman of Rajya Sabha d. Finance Minister.

Ll esTeu(HLD WM 6(h LOEFMGMeme LicssT LDEEFTSIT 6T68T MBI SMliLIeNT wim?

a. gL b. b&geTeneauuiest FLMHTWLST
C. DMK GUBIGETENEU S6D6VEN d. m& emwssn
Find the difference between simple interest and compound interest on Rs.6,400 for 2 years at 6 ¥4%

p. a. compounded annually.

0hH.6,4008& 6 1/4% Y esui(h) all_lg el 2 Y eauT(hiseflen &enL_&@G Fal (h el &H@GHb Geufl
UL (N&HGLD 2_6T6m 6l SSMFLD SIT68sTS

a. 25 b. 26 c. 1875 d. 1800

The difference between C. I. and S. I. for 2 years on a sum of money lent at 5% p.a. is Rs. 5. Find
the sum of money lent.

6(1H HL_60T CIGNens; 5G| 2 Y eT(hidefiev 5% ,681(h el lg aigd 2 oy 6wuT(hsefey &enL_&GW
Fal_(h) el 1g&H@&HD Fevfl el 1q &G 2 6mem all FHwned eHUML 5 eTesflev G6IFTenSHemwIs
SHITESTELLD

a. 6000 b. 4000 c. 2000 d. 1500

Sujatha borrows Rs.12,500 at 12% per annum for 3 years at simple interest and Radhika borrows
the same amount for the same period at 10% per annum compounded annually. Who pays more
interest and by how much

&M ¢h. 12,5009 ,6810IL_M6sTMm)I6G SHevll allly eigbd 12% alglb 3 gy eur(hsafen eSS
SL_65T eunmaid evrri. TNAHSMT BHOGTemGHmL B HMVSAMNE) ), e6sTlq 65TMI6H G 10% Fal (h
Qi lg e FID SL_6T eUMMIA 6. HF & el lq ClFISHILIeN WIMH? eTelel6Te|?
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a. 362.10 b. 362.26 c. 362.39 d. 362.50

What sum is invested for 1% years at the rate of 4% p.a. compounded half -yearly which amounts to
Rs.1,32,651?

2601 AT (MG 6(H (PO el g 6ol CEFNGH@GHD (POMUI6 62(1H OGRS H,685T(H all_lg 4%
aigb GmHeudev 1 1/2 9 ewT(haEhsHS (PSS () CFWSMA. (plgaile em.1,32,651 QUM eTesfl6v
Qe (LpGed () eTeuel6Te?

a. 1,25,000 b. 1,26,000 c. 1,27,000 d. 1,28,000

Gayathri invested a sum of 12,000 at 5% p.a. at compound interest. She received an amount of
Rs.13,230 after ‘n’ years. Find the value of ‘n’.

smugG ¢m12,0000 5% 6w1(h) Sal () el lg S(HD (h aukdulen 'N' 26T (haEhsH S
a3 FWSTI. Qe (pigails emh.13,230 GUDHMT. 'N' @6 LI 6T65T6wT?

a. 1l b. 2 c.3 d. 4

The value of a machine depreciates by 5% each year. A man pays Rs.30,000 for the machine. Find
its value after three years.

R QUHZTSS6 LI @l HeSTHID 5% GHPDADSI. @IHEIT QG abIGHSDE
¢H.30,000 G&MHSSM. eLp6sTm)| H,6iT(NSHEHSHGL LIM(@G QS6tT DGHLIL| 6T6tT60T?

a. 25721.25 b. 27521.25 C. 712215.25 d. 25271.25

In a Laboratory, the count of bacteria in a certain experiment was increasing at the rate of 2.5% per
hour. Find the bacteria at the end of 2 hours if the count was initially 5,06,000.

(IH PGS 60, el Y TMUFAUIEL 6(IH aUemS LIMSLe MG aef 6T 6T650T6us1 &H6m& 6(Ih LDEwsH & (&)
2.5% aigb 9 H&Ms8l6nsgl. OST_5&658 6 5,06,000 LnsHefunsssr @ mhHSmev, 2 essi
CrISIH M@ LIM(G UH60T 61655165511 5608 6T60T63T?

a. 531616. 25 b. 531661.25 €. 635116.25 d. None of these

From a village people started migrating to nearby cities due to unemployment problem. The
population of the village two years ago was 6,000. The migration is taking place at the rate of 5%
per annum. Find the present population

Beusmevullevevnd F6ITLML_L_GH6TTM6V 62(ThH HITMDSHGVIGITET LDSHSHET | 6TTemLOUT 6Y|6iT6rT
BSNBIGHEHHE QLD G G6uTH. GTESST(h ST (NSHEHSHS) (LPETT NSHHTMDG 6T LDSE 6T
Lgnens 6,000. @L_1b QLIWINhHESNM 6T sTessTessl &H608 Y, eTOIL_M6TMI6HE 5% sTevllev HHBLTEDGWI
D&S6T C\GTEnS 6163T60T?
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a. 6000 b. 5312 c. 5148 d. 5415

69. The present value of an oil engine is Rs.14,580. What was the worth of the engine 3 years before if
the value depreciates at the rate of 10% every year?

62(1h 6TESITOlewoTI @uIh & TSHSH 68T HHBLIMEMSIW WG ¢hH.14,580. @6t I @eubleur(m
AGTT(HID 10% 2,856 (GHEODHSTEV PLPEITM)| H,6TT(NSEHGH (G (PEIT6uTI QG6T DFILIL| 6T6LAIATEUTS
Q(HSHGW?

a. 10,000 b. 15,000 c. 20,000 d. 25, 000

70. The population of a village increases by 9% every year which is due to the job opportunities
available in that village. If the present population of the village is 11,881, what was the population
two years ago?

Beuemev eUMLILIL| &) SH(LPETEMSITeV 6(hH HIMDSS60 2 676 &S OIGTeNd: ,68616IL_T6TT )5S
9% G HMES55. QUBLING| 60T &HSHT OFTens 11,881 616ll6v @TEssTL M6wsT(h&H(EHSH S
(LPETTETTIT Y G6TT LDSHGET GIGTENS: 6T6ITETTOUNS: @)(Hh S (HSHEGHD?

a. 10, 000 b. 9000 c. 8000 d. 7000
71. Match the following List I with List Il and choose the correct answer from the codes given below:

List | List 11

A. Magna Carta of India 1.1883

B. Vernacular Press Act 2. 1885

C. llbert Bill 3.1878

D. Indian National Congress 4. 1858

QUM(HSSH15:

A. QiAW 6ST LOSHTSFTEFEUTLD 1. 1883

B. p1L_(h Gl GlFuidh SSmeT &L_L_Lb 2. 1885

C. @eoun_ wGangm 3.1878

D. @hglw C58lw smmiglyen 4. 1858
A B C D

a 3 4 1 2

b 4 3 1 2

c 2 3 1 4

d 1 4 3 2

72. The British historians called the revolt of 1857 as
a. Military revolt b. The great revolt  c. War of Independence d. Freedom Struggle

1857 <y 1d 9,66s1(h GBI LTSl 4mhidlev eureumhm| iMlEhi&em emps S5 ?
a. uenL_eifi sevsd  b. QLR &H6eusLDd c. @hgw &ShATL Cumn  d. & BT GuyTL LD

73. The Lucknow conference of Indian National Congress in 1916 is an important turning point because
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a. It demanded domination status for India

b. It demanded complete independence

c. Annie Besant was the President

d. Indian National Congress and all India Muslim league resolved for a joint struggle

1916 91b YewT(h 6w QhIul G558 W SMHRIATH 6T 605E6sTT MHT(H 62(H &) (HLIL|(LPEDETTIITS
BBHHSS60T SMyesIlD
a. @hglwnaimg oLmdssflwes ohSevengs Camiwigme
b. W &#5KINSmG Camiignen
C. 96516l QILIFEHSTL DMHMTL_I.M(& SEHEVEHLD 67MHMSTEV
d. @il G5 W SMaAN&HD 60 QbW (LPeveSid 63&H @D Genesstihgl GIIMIM(held)
61601 M) SMLOM6vTl S SHM6v

74. The Hunter commission was appointed by the British to probe the

a. Non-cooperation movement b. Khilafat movement

c. Chauri Chaura incident d. Jallian Wala Bagh Tragedy
S BIF GeVILINSETITEY AMGISTLT (GH (LD 6TSHED6ST HIML KA SSUILILL_G)?

a. RSHIMPILTEOLD @UISHSHLD b. dleomug QuIsSID

c. Qgeil QFaTIm K &HPESR d. 2MeSlLIEST eUMEVITLIMS GUWITLD

75. Arrange the following incidents in chronological order:
a. Surat split, Home rule league, Estalishment of Muslim league
b. Home rule league, Surat split, Establishment of Muslim league
c. Surat split, Establishment of Muslim league, Home rule league
d. Establishment of Muslim league, Surat split, Home rule league

FLpaU(HID HEPFH&HEMET SIT6v (PEOMLILIG el &L iLi(h& G b
a. (&75 Uerey, Cannbekhey @UISSHID, (P6veSd 658 CHMHMLD
b. Gammbemev QuISSLD, (FNS Llara], (Peveibd 65& GZHMMHMLD
C. (&S Llara], (peveld 686 GgMMHMD, Gammbemey @UISHSID
d. (psveSd 658 GgMHMLD, (GG LlaTa], Gammbemen @UIGHSLD

76. The first Indian lady to preside over the Indian National Congress was

a. Vijayalakshmi Pandit b. Kasturi Bai

c. Rani Lakshmi Bai d. Sarojini Naidu

Qi G MR TMINEG S0V STHRIF W (P&He @kl GILIEETLOET
a. alWeuadplsl LIGosTigL b. sevgmm Lim

C. nresstl suasLSILIML d. s@rmdiesil Hruj(h

77. Which party took out a huge processing against the Simon commission under the leadership of Lala

Lajpat Rai?
a. Indian National Congress b. Muslim League
c. Republican party of India d. Hindustan Socialist Republican Party

EOEFLDEIT SHLOOPEDET 6THMSE] 6UTEVTVLIG T HEN6VEDIOUI6L 2amialeud HL_ S S dulesr Gl
6T63T60T 7
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a. @bLHw AW SMrhde b. (psiveSid 658

C. QhFHW WETHMLG SHL_& d. enBGiengmest CFTFeNl6VL_ 260 HMILIS HL_&
University Act of 1904 was passed during the time of

a. Lord Lytton b. Lord Rippon c. Lord Curzon d. Dalhousie

1904 gyib I,65eT(h LIV &Hemed: SpaniGeafen gL b @el(heoL U STeudglev KlenmGaummUL L &)
a. edlLLeor LAY b. Muuest LAy c. sngeor Liny d. Lev@eamerdl LirLy

Simon commission was boycotted by India as

a. None of Indians was a member

b. It was meant for the division of India

c. There was no representation of the labour party
d. It was headed by the General Dyer

QLGNS ET FIDEHT HLOOIENETT LIMNESHEssT SSHMNSET, SHITJ6ssILD
a. @hAHWNSHET WM(HD HF6ev 2 MILILT6UTH GeV6mr6y

b. 95 @bglwnemeal LleTeL(hSGeIsnaNs eJNHL(NSSLILIL L G|
c. Qgnifiev s _dulev Q(HHG 6ThHSLI LITH M SU|D G6v6m6v

d. Cx6rTIT60 eOL_WIM FHeneveniouiiev albhS S|

Why did Gandhiji found Satyagraha Sabha in 1919?
a. Against Indian Council Act, 1909 b. Against Rowlat Act
c. Against Government of India Act, 1919 d. Against Jallianwala bagh Massacre

191991 3y ewoTiq 60 HMHHA X 67637 FSHHWNHNS FevLienw eJMLI(hS S evrri?
a. @hIlw & s 1909-0& a1 TS

b. Qyereu_ FLL_SZM(& 1HNNS

C. @hAHw YNFMhis &L 1D 1919-hG e1H NS

d. 2meflwest eumeurmLIns LI(Ho\&meneud (& 6T Nns

If the Prime Minister of India belonged to the Upper House of parliament, which among the
following statement is correct?

a. He will not be able to vote in his favour in the event of a no-confidence motion

b. He will not be able to speak on the budget in the Lower House

c. He can make statements only in the upper House

d. He has to become a member of the Lower House within six months after being sworn in as the
Prime Minister

Lrgw whM WwmekiIGaTenel 2 MILILI6TINTS: @(H&H@GHW LL_FHFlev Llemal(hd Samisertev 618
gm?
. BOLIGensUleveu &mestd C&MessT(h eu(HD CLIMG aITTE UTSHSM &S (LIS
. b&GeTenalLlen KM eney M &Hns SM&Hee0 CEFLD CLITG| e CUF (Lplquimg)
. bIBlevBIGaTeDaIals) L (NG ey CLFGT Bj6V6Vg) aUTSS6M &&G6T (Lplg b
. LI7gw WEHAAWTES CHIKOSMHGSHILL L. I m| DTSHSHMHEH6T &HS6TeneUl 60
2_miilesryng Geauesst(HId

00 TH
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82. An amendment to the Constitution of India can be initiated by the, which among the following
institution,
1. Loksabha 2. Rajya Sabha 3. State Legislature 4. President

rlevenioliL] &(HSGID EEFTST L6sTal(HD 6THG HeMOLILIEY M (LPSLILI(NSSHLILIL_6VITLD
1. &G6eTED6I 2. bnpevkaIGeTenel 3. MHleV FUL FeoLl 4. MeTTILIG)

a. 1 alone b.1,2and 3 c.2,3and 4 d.1land 2.

83. Consider the following statements about the Attorney General of India:
1. He is appointed by the President of India
2. He must have the same qualifications as are required for a judge of the Supreme Court
3. He must be a member of either House of Parliament
4. He can be removed by impeachment by Parliament
Which of these statements are correct?

QhFHU HHEVEMLD QULPSHEGHEDTEHT (HMNSHF &P SMTFYID FnMHMIHENET Y U15%

1. @S MennFudluwimey Geun Bl SaLI(heur

2. QUILIGa1&(@ (B s(HeUT 2 &&K Fl6sTn KH FLSWMGD S&HF 2 enL_Walns: Q(HSSH60
Geuesst(hid

3. UMMEHETN Jeneuderfley 67EHMID 6ol yeneuulest 2 MINILlesTIng G)\(HhSHGHev Geuesst(Hib

4. @ealen] K& LIMTMEH6TMHS S 60 Hbmestid mepmGaunmigev Geuesst(hid

QeunmmIer e1&FnMm| Fiflwimesg)?

a.land?2 b.1and 3 c.2,3and 4 d. 3 and 4.

84. Who amongst the following can be removed without Parliament’s resolution?
a. Governor of a state b. Any judge of the Supreme Court
c. Any judge of a High Court d. Chief Election Commissioner.

SP&May|d LGl 2_enL_wealidHEnhev WIMT LIMTMEHLO6ITN FAmesTd @6stm h&HaULIL 60D

a. mmev L EB b b. 2 &5 B glwertm KAL)
C. 2w B lerrm K SHLg) d. HemevenD BHNGEV Y,6M6GOITILIT

85. If a question asked by a Member of Parliament is a starred one, he will get a
a. A written answer b. An oral answer
¢. Answer in the Zero hour d. No answer.

LmymEemesTn 2 mitliesn CGoHL L Goemal KL ST Caetal 616sfl6v, D6(HEH@E oL &G0 alenL

a. TIPS glalgaier G(H&GW b. eumia QM LFevns @)(HEHELD
C. 95 Lhw Crrsdlev @\(hH&H@HWD d. @euhmieT eTGHla D @6veney
86. For removing the Vice President of Indian from his office a resolution is initiated by
a. The joint sittings of both the House b. The Rajya Sabha
c. The Lok Sabha d. Any of the two Houses.

www.impactiasacademy.com [

AC — 12, 3" Floor, 2" Avenue, Anna Nagar, Opp SBI Bank, Chennai — 600 040
Call : 044 — 43537455 / 09840 557455 : e-mail: impactias@gmail.com




Pagel 5

THE IMPACT IAS ACADEMY

HI6968T WETTFLIGenWw LGal H&H&HD O\FILD Smeuid, 61mmIG8 C1&MessT (helT(Lplg b
a. @@ emeusaflen Fnl (h Fal L S6Hm_iflev

b. Gwsv Yemauuiev

C. &1 Yemaluiev

d. @Q(hH Imeuderilev 7EFHEMID 6268TMI6V

87. The Cut Motion which takes the expression that the amount of the demand be reduced by Rupees
100, is

a. The Policy Cut b. Economy Cut c. Token Cut d. Cost Cut.

O Fnwrmeuid, K& Kemev CamM&ensulev, UMl 100, &HMEe GHM(HLD &ALDMTEITLD 615
a. Ganerens e (h b. QummeTngny Geu(h

C. »Ingl el (h d. Q&gevey Geu (i

88. The President is elected by the members of an electoral college, consisting of?
1. The members of both the House of the Parliament
2. The members of the Legislative assemblies of the state

werTMHUG) CHNFedev LBIGHHEUIMT &LpSHE5sTL6UMHMI6T WITer?
1. LUMTMEBLOETN @N(H Dieveuseriest 2 MLl esTigeT
2. YU HG)| DMKV FLL_LO6OTMH 2 M|LILN6OTISH 6

a. 1 only b. 2 only c. Both d. None of these

89. Which one of the following articles in the constitution of India is related to the amendment of the
constitution?

QA Yrduievr enli FLL_F(HSSD ClIFLIL eUm&OIFILIILD 03758
a. Article 268 b. Article 363 c. Article 263 d. Article 368

90. In a parliament type of the Government, the ministry is responsible to
a. The Upper House Only b. The Lower House Only
c. Both upper and lower Houses d. The President or the King.

LIMMT@BLO6TTMN 20687 HTILS S S 60, hHIAMFnL WM(HE G SHL_6DLIL_L G|
a. Geueneals @ b. Fpemeaid@
C. @\(IHAUEDEUGHEBHSHGLD d. el I6v6v& BITF(HSHS

91. At what rate per annum will 640 amounts to Rs.774.40 in 2 years, when interest is being
compounded annually?

0hH.640 Y eu1H QNEssT(h ,eT(H&6eM6 ol (h&0FMens ¢H.774.40 Y GD. sal (h el ly aigb
FM6Es1S (QUL_Lg 68Tl MN(&) 6(1H (LB NFNIL_ 65T CF(HA TMHI)

a. 10% b. 12 c. 15 d. 8%
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In how much time will a sum of Rs.1600 amount to Rs. 1852.20 at 5% per annum compound
interest.

. 1600 60181 5% H,6801(h) Fal_(h) el ly aiFD 6I&M6EsT(h) 6T HED6T 2,681 (hder 6v
¢hH.1852.50 gy,GHb?

a. 1l b.2 c.3 d. 4

Find the difference between Simple Interest and Compound Interest for a sum of Rs. 8,000 lent at
10% p. a. in 2 years.

ehH.80006@ 10% all_lg eiglb eresflev @Tesst(h ) eSsT(h&er6) HenL_S@SHD Fal_(h UL IqSH@EGHW
Getfl all_lq &G 2 6161 lGAUWNFSDHE HT6T0T15

a. 1600 b.8 c. 80 d. 16

Find the compound interest on Rs. 24,000 compounded half - yearly for 1% years at the rate of 10%
per annum

SIEDIIIMGTDTIGN@E 6(H (PN QUL Iy Fnl_(HD (Wpemmuiev ¢H.24,0008& 6oL _MetTmI%H@H 10%
allg aigd 1 1/2 gy et(hgeflev HepL_sGD sal (h allly eTealaleTe?

a. 3783 b. 4000 c. 3680 d. 4921

Find the amount that Dravid would receive if he invests Rs.8,192 for 18 months at 12%2% per
annum, the interest being compounded half - yearly.

DUEMTWIMEITTIGN(&) 6(1H (PN 6UL g Fal_(Hd (peomuiey Lnmail ¢H.8,192 &, 18 WwrghisEnHs ),
12 1/2% sy&s01(h) el lg @igd Q&ML (pSeS(h CFIWSTT. QaU(H&HGHS & enL_&(GL
QWM555 TN eTeuINTR|?

a. 9826 h. 9825 c. 9824 d. 9827

Find the compound interest on Rs.15,625 for 9 months, at 16% per annum compounded quarterly.

eh.15,6252 9 ng&EH&eHE 16% U6 alllg 6IgS5F60 (pGeS(H C\FWIST6, aillg
SMeunesst (hi& (& 6(H(PewM CEFISGSUILILL 6V, Fanl_(h 6UL_Iq6DUIdH SHITEETS

a. 1950 b. 1951 c. 1850 d. 1900

Find the Principal that will yield a compound interest of Rs. 1,632 in 2 years at 4% rate of interest
per annum.

4% est(h) el aIgliLlg 2 oy eT(hi&eflev ¢m. 1,632 Fal (h el lg G(HID F6VE HTET6 LD
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a. 20, 000 b. 30,000 c. 25,000 d. 35,000

Vicky borrowed Rs. 26,400 from a bank to buy a scooter at the rate of 15% p.a. compounded
yearly. What amount will he pay at the end of 2 years and 4 months to clear the loan?

el&8 @(h VFnl L 691 aUMMIS 6(h eUkIFUIe) ¢H.26,400 L 6T QIIDMITH. 2H,655T(h el lg
15% aigId, Y EETOIL_M6TTM|5H(G) ULl emul CFNSSHMev 2 H,6TT(h&H6T, 4DMTHBIGHET 68T LI65T H65T
SL_EDETT Y6HL_&5 e eTeualaTe ] ClFe|&H g Galesst(hibd?

a. 36,609.70 b. 37000.60 c. 36659.70 d. 37659.70

Arif took a loan of Rs.80,000 from a bank. If the rate of interest is 10% p. a., find the difference in
amounts he would be paying after 1% years if the interest is (i) compounded annually and (ii)
compounded half - yearly.

LI e160TLIOUNT 62(TH euraidlufiev ¢MH.80,000 &L_68T aunmaidl 6T, 68sT(h) 665TMISH G 10% eullg.
eigb 1 1/2 gy ewr(hsafiev (1) ,eTOL_MeTmI&H@E all_lg GaidH@bd (weomuiev (2)
EWITILINTGETTTIG MG 6(H (LPEOM QUL lg CFIGHGD (LPEOMUTE HEEsTSHSHIL_LILIL L M6y ol SHWIMTFHe0S55
SHITESSTELLD.

a. 180 b. 190 c. 200 d. 210

Find the difference between simple interest and compound interest on Rs.2,400 at 2 years at
5% per annum compounded annually

eh.2,4008& 5% etst(h) alllg aigld 2 Y et(hGafley HepL &G Fal (h el lg&H@GWn el
QUL Ig &G 2_6TeT el GHUINED HT6osT5H

a. 2069 b. 100 c. 54 d. 6
101. The first Military opposition against the British in India was
a. Indian Sepoy Mutiny b. Vellore Sepoy Mutiny
c. Opposition of the Rajas d. Opposition of the Begums of Oudh
Qiglwnaiev o, migCeulidHEnhd &) 6THNNS JNHLIL_L (LpSH60 QITEDIe 6T
a. @il SALILMUSET &60&HLD b. Geugori ALILMLUSET &H6VHLD
C. @nmeon&&efle 6THMIL d. 316|S Lsbaefesr e1gnL
102. Who said ‘1857 Revolt was the first war of Independence

a. S.B. Choudhary  b. V.D. Savarkar c. R.C. Majumdar  d. S.N. Sen

1857 L& eTeTLG @b Fwnalest (pHev FShSla CUITT eT6dTm)| Faflweu wim?
a. S.B. ogengnfl  b. V.D. geurmisi c. R.C. ngdibgni  d. S.N. Glgswr

103. Match the following
1857 Revolt Place Leader of Suppression
A. Delhi - 1. Colin Campbell
B. Kanpur - 2. John Nicholson
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C. Bihar - 3. Hugh Rose
D. Jhansi - 4. William Taylor
QUIM(H G S15:
1857 L dulen QL _mise LTS emwl LS8 WeUTSH6IT
A. Gl_svall 1. smedlesr GaDLIGILISY
B. anestLyn 2. M6t [ H&H6VF 60T
C. Usmn 3. anf& Grmev
D. xonenrdl 4. afleval b GlI_Levr
A B C D
a 1 2 3 4
b 1 2 4 3
c 2 1 4 3
d 2 1 3 4
104. Indian Association was founded by
1. Surendranath Banerjee 2. W.C. Bonnerjee
3. Anand Mohan Bose 4. Dadabhai Naroji
‘@I HCFTHAGWF6T ewoLienu M mieilweuigen wmi’?
1. &CrhGany B LMesnedl 2. W.C. unengd
3. Y eThG Gomsest GLIMe 4. sngmumi QmerGrmed
a. 1 Only b. 1,2 Only c. 1,3 Only d.1,23,4
105. Who was the president of Indian National Congress at the time of Surat spilt
a. George Yule b. Raj Bihari Bose
c. Raj Bihari Ghose d. Lala Lajpat Ray

(GG Llere| Kawpaien CUTg @nhalul CHAW SHMBIAFMI6T Genevalnd @bl wrm?

a. 29mg wnGev b. nngy tam Gumev
c. g L&m G&meiv d. eumeurt eu@MLIG U
106. Who was the president of 1924, Indian National Congress session at Belgaum?
a. W.C. Bonnarjee b. Gandbhi ji
c. Maulana Abul kalam d. Jawaharlal Nehru

19246v GluevsMleL BL_HS QbW CHSAW STHRISTEV DT KL LG 60 SHMN6VEUTTS @\(HbGeur wrri?

a. W.C.unesrigd b. sanhd i
C. QUDETEVITETTIT BIL|6V SHEVMTD &M d. maiamieurey Gm(H
107. Which one of the following Leader organised vande Matram Movement in Madras during
Swadeshi movement
a. Tilakar b. Bharathiyar
c. V.0O. Chithambaram d. Bipin Chandra Pal

5658 QUIS&SS 6T ClUM(PG| ClF6iTenesTuley aUKhES IGID QUISSHSNS HL_SSWal wImi?
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a. devai b. umy&wm
C. ai.e.d ubLieTenar d. ddes ghgly LMev
108. ‘New Lamps for old’ was series of articles that criticized the moderate congress was written
by
a. Tilakar b. Aurobindo Ghosh
c. Bipin Chandra Pal d. Lala Lajpat Tai

L0l Heun Gl &6 HMBIATenen W e b alondl s s (henrwme 'Blul, Geubsiv LIMT 660(h)' 6T65THM
SL_(hevnsmnwl GlevsrflulLL_eurm wimn?

a. glevsn b. nlinGgm Gamay
c. L6t iRy LImev d. eumeurt euMLIG M
109. Which among the following Act led to Jallian Wallabagh Massacre ?
a. The Arms Act b. The Rowlett Act
c. The public safety Act d. Vernacular press Act
oomed et eumevr LG Li(hi6l&meney eIMLI(heusm@ SMIEssInng Q\(Hhg FLL LD 6157
a. Yu,Ls LD b. QreTeu_ gL Ld
C. QUG LMGISTLL] & L_ID d. @i Gmf LSSHM&Gens gL 1b
110. Which one of the following Indian National Congress session adopted the resolution of
Swadeshi
a. Benaras session of 1905 b. Calcutta session of 1906
c. Calcutta session of 1920 d. Lahore session of 1929

LiesTeu(hid 6Thg @Gl G5l SMhidlfen WMKHT 1q60 '§HE58' Fmeid menmGeummuiLL L &)

a. 1905 - unestryen WABI(H b. 1906 - sev&55M IKHT(H
c. 1920 - 56855 WMKT(h d. 1929 - son&an LMHT(H
111. When a money bill is passed by the Lok Sabha, but not returned by the Rajya Sabha within

14 days of its receipts

a. It cannot become an Act

b. It is deemed to have been passed by both the Houses
c. Itis again referred to the Rajya Sabha

d. It is Reconsidered by the Lok Sabha itself.

K& s &pemaluien MenmGaumiwiiesr, Gevenaiuiley LIF6TTMRIG BT &EHdHE Gev &) (HDL
QaM(hHssalsvensy 6T6sf6v

a. |G| FLL DISSULL DML M)

b. 915 @ SausefieId MepMBaBWGTS 61(N&SISH6ISM6TETLLI(HID

C. 8asT(hd Goeveneus (& eIILIILI(HID

d. Speneuuiev LIM& eVen6sTsH S maUGSLILI(HID

112. A bill passed by Parliament is sent to the President for his assent, which option is not
possible to him?
a. He may sigh it
b. He may decline to sign it
c. He may return it to Parliament for reconsideration
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d. He may withhold it.

6(1H LEEFTHT LIMTMEHLOETNEH S 60 HlenmEeummLiLL(h 6T LIS &G HeDIILILILILL_T6V,
L6TTaU(HID 6T69G DIQUTTEV GIFUIL (LplgUITG|?

a. eULge el gHe0

b. euge eflushE LNISSe

C. LUMIME@BLOESTHSH 60T LOM| WSS TSH AW IL|FH60

d. eelge SeflliLemg HmISH neld 60

113. What percentage of the quorum required to hold meetings of the legislative chambers?
I696 HEOL_6ILIMIUGN(E 6T55H6068T 5618 2 MIILI6TTISHET GY(HLILIG Sjeuduib?
a. 15 b. 20 c.12 d. 10.

114. The Chairman of the Rajya Sabha is
a. Elected by the members of Rajya Sabha
b. Nominated by the President
c. Elected by members of both Houses of Parliament
d. Elected by Parliament and State Legislatures jointly.

DMK VBISETERaUILIN 6T Senevault wmmev CSbo\SHSSLILINS 6T
a. rmenIGeTenealLl 6T CHiholG(hSHLILL L 2 mileuiger
b. merngluglwumey RGO L 2 MLl esTig el
C. LUMTMEBLTNS S 65T @)(H epausefleid CHNHoGHIGHILL L 2 mIlesTigeT
d. LMIMERHLOEITMHID WHMID MK FLL_FenLSH G CHNHOGHNGHILILL. 2 m il esTigern
115. The Time gap between two sessions of the Parliament should not exceed
LIMM@RHLOETM &S 68T @)(H LOM6SHE&H QDL LILIL L. F&HLL& &Tev GQenL_Glealerl eTaleiare?
a. 3 months b. 6 months c. 9 months d. 1 year.

116. One third of the members of the rajya Sabha retire after every

LD 6UBIGEMEREUUIN 68T RLPESTINEY 6(Th LIMIG, 2 MILILN6TTNISH6T 6T S6m68T Y6881 (hNH (S 6(H(PewM Ligeai

alleuGaUMn& e
a. One year b. Second yearc. Third year d. Fifth year.
117. What is the minimum age for election/appointment as member of the Rajya Sabha?

LDMTH 6UBIGETED6US & BSITHOISH(NGSLILIL (HEDMHSLILF 61ILIG| eUJDL] 6TelaIaTE?

a. 35 years b. 30 years c. 25 years d. 40 years.
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Parliament of India, composed of

a. Lok Sabha only b. Rajya Sabha only

c. Lok Sabha and Rajya Sabha d. Lok Sabha, Rajya sabha and President.

Q@I LIMTMEHLOETTMLD 6T60TLIG| 6T60G 2 66L& &I WG| ?

a. &&6Tenal L (HILD b. bR evBIGZemaT WL (HID

C. LD&GEMERE MHMILD LOM K 6UBIGHET N6 d. &aeTenel, DMK eVRISETEDE WNHMID 6uTTH LI
Maximum number of M.P for lok sabha are elected from which one of the following state?

a. Bihar b. Maharashtrac. Nagaland d. Rajasthan.

Li6tTaU(HID 6ThG LOMHVSSH 6V QN (HBG LDESHETEDEUSH S S HLOMEUT 2 ML ILN6OTIGH 6T

B hoIGM&HSLILI(HNE 65TM6TI

a. usmn b. wamymasL_iT C. BM&HEMHG| d. gregenvgest
Appointment of the members of the Council of Ministers is made by the President

a. On the advice of the Prime Minister b. In his own discretion

c. On the advice of the Vice-President d. Chief justice of India.

et ILIG) Li6sTeU(HLD WIMen] BIeHFFNS MG &H&H6e0MD?
a. dnsw il uflbgleorliiealeny

b. 9eurg| al@muulitig Bws&&eorb

C. glewesst WeutnGlUGluiest LMl hglemyuieor Guirfev

d. 2 &5 B lenm Gevev HIILG LIflhGeDILILIOIEDI]

A sum was put at simple interest at a certain rate for 3 years. Had it been put at 2% higher
rate it would have fetched Rs. 360 find the sum

Q(H GMIULIL L. 95660 3 Y eT(N&EHSHS (b GDULIL L Seflal iy aigb
QEBMT(N&HSIL(WNAGTNSI. AHEH Femev 2% 9HG Fevflal g &@ 6&N(hHGSMev ¢H.360 9 H&D
FML_GH@GLD 6T6TMTEL F6V GIGMENS; 6T61I66TE

a. Rs. 6000 b. Rs. 5000 c. Rs. 4000 d. Rs. 3000

The simple interest at x% for x years will be Rs. x on the sum of
X% gesflal 9.6 X 4,6T(h&eflev ¢h.X Sevflall g HenL_&FMmg) sTesflev F607?

a. p = x/100 b. p = x%100 c. p = 100/x d. 100/x?

A sum of amount Rs.12,000 is doubles in 5 years by C.I. what is the amount is after 20 years

§(H OFMena ¢MH. 12000 WerT G| Fal_(Hel lg (peomuiey 5 gy et(haeaflev @I 1qLn&mg) eTevflev
20 4,61 (N&HEHHE LINEG AhG CFTens: sTelalaTe?

a. 19600 b. 148000 c. 196000 d. 192000
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124, A sum of money doubles itself at compound interest in 15 years. In how many years it will
become eight times?

Fal_(h all_lg (Ppeonuilev 6(h CIGMensWTens 15 gy esT(hserfleo @I 1 LiLimg Mg 6T6sfl6v
5015Me0s 8 IOL_MRIGNS STeuDd?

a. 45 yrs b. 35 yrs c. 32 yrs d. 44yrs
125. In what time will Rs. 500 give Rs.50 as interest at the rate of 5% p.a S.1?
gevfleu g (peomuiev ¢m,.500, 5% alllg aigsdlev 6158606 H,6wsT(h&6rf 60 ¢H.50 Gl&M(N&GLD
a.2yrs b. 3 yrs c.4yrs d.5yrs
126. In what rate per cent a principle of Rs.2345 amounts to Rs.1055.25 in 3 years?
61hS el lg aigSdlev ¢1H.2245 & @ et ,esT(hderfev ¢m.1055.25 &lenL_&@Lh

a. 10% b. 15% c.17% d. 18%

127. A lend Rs.5000 to B for 2 years and Rs. 3000 to C for 4 years on simple interest at the same
rate of interest and received Rs.2200 in all from both of them as interest. The rate of interest per
annum is:

A ereitLaul B 6@ ¢H.500086m8 2 3,6wT(N&Eh6 & CI&M(h&SHADT Hmd ¢H.30005ms Ca&
4 9, T(h&EHGHS CHM(NGHAMTI. YaligefL Lol (Hhgl el ly ¢H.2200 GlLhSA M 6T6sfl6v
QUL Ig @I SLD HIT6TTS.
a. 5% b. 6% c. 8% d. 10%

128. Find the C.I. on Rs.15,625 at 8% p.a. for 3 years compounded annually.

AGTT(H&(G (H(LPEON Gl lg HTERID (LPeoMulev ¢H.15,625 &G 68T el lg 8% aigid
eT6vflev, 3 Y GT(H&HEHHHS Fal_(h) QUL _Lg SHTEETELD

a. 4058 b. 4085 c. 19683 d. 4167

129. Find the compound interest on Rs. 1000 at the rate of 10% per annum for 18 months when
interest is compounded half-yearly.

6D YT (NHS 6(IH (LPEOM QUL g NFQIL_65T GFNGHSLILIL_L_Mev ¢hH. 10008 4,6351(h Gl lg
elgld 10% algLliLlg, 18 IHHIGERSHGHS ol _(h) el g STesTa|b

a. 156.63 b. 156.73 c. 157.63 d. 157.73

130. Find the compound interest on Rs. 20,000 at 15% per annum for 2 1/3 years.
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¢/.20,0008@ 15% ,ew1(h allly aigSHAN@G 2 1/3 Y, T(HHEh&HGHS Fal_(h el lqenuid

ST S

a. 7712.50 b. 7777.50 Cc. 7727.50 d. 7772.50

131. Who was the first Englishman to preside over a congress session
a. George Yule b. Lord Dufferin c. W. Weddweburn  d. Lord Canning

MBI 6V MHTLIGMN(E SHEHEVEHLD SIS (LPSH6V HbIS Geul wimi?
a. 2oy wnGev b. Lufes Lny C. w.Qan" L nGuner d. smesfiir Ligy

132. Which one of the following statement is correct regarding Ghandiji National Movement
1. His first Civil Disobedience movement was champaran Satyagraha
2. His first Non Cooperation Movemen was the Ahmedabad Satyagraha
3. His first hunger strike was kheda Satyagraha

SMhGwilert GHdAw GuTIML_LLD uMmMiwl LI16TTeU(BD Fammiseiev 15 &M?

1. s gluler (PFev FLL LML QUISSHLD FDLNTT6 FSFWMHATHD Y, (&HLW0

2. HMhFUl6 (PF6v RSFHEDPUIMEOLD QUIGHLD HSSMLMTS FSHSHWMHAFHD H,&HLWD
3. &MhGluier (pGev 2_eseTessTmalfHb CUMTTTLL D CHSM FSHAWMHTEHID I, (GHWD

a. 1 Only b. 1,2 Only c. 1,3 Only d1,23

133. Which one of the following day was observed as Anti-Rowlatt Act day in India
LletTau(pId 61h& SlesTid Glferev_ L L 1AL SlesTons @hAwnaley GlemessT ML L &
a. Oct 16, 1905 b. Mar 18, 1919 c. Apr 6, 1919 d. Apr 13, 1919

134. According to the resolution of the Lahore congress meet, the independence day was
celebrated throughout India on--------

a. 1930 January 15  b. 1930 January 26  c. 1929 January 15 d. 1929 January 26

VM&all SN T6v SADMEITLILILG FHHAT S esTons BI(h (PLHEUSID OCIGTEBSTLML_LILIL_L_ BT6T

a. 1930 mevreurl 15 b. 1930 ewreaurfl 26

c. 1929 mevraufl 15 d. 1929 wewraurfl 26
135. Match the following

Place of Revolt The Leaders

A. Lucknow - 1. Kanwar Singh

B. Delhi - 2. Nanasahib

C. Bihar - 3. Hazarat Mahal

D. Kanpur - 4. Bahadur Shah

QUM(HSG15:

T8 BemnL_GlLmm @IL_mkigei G60606DLGUIDHM ELITG 6T

A. a0&Geu (BTG S) 1. setTeundim

B. Gl_sved 2. presTnen&ll
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C. Jamn 3. anngSL&HM6e0
D. sneL,n 4. LSO
A B C D
a 4 3 2 1
b 3 4 1 2
C 4 3 2 1
d 3 1 4 2
136. Which one of the following is the reason for withdrawal of non-cooperation movement by
Gandhiji
a. Jallianwala Bagh Tragedy b. Chauri Chaura Incident
c. Second World War d. Gandhi — Irwin Pact
RSHSHIDPUITERLD QUISHSHSMNS SHMThd) H(HLOL CILIHMSMHSTEST SHMTEHID 6187
a. 29medlwI6sT QUITEVMLITE GIUITLD b. Qgeri Glgemnnm M &L
C. @IESIL_MD 2 608 G d. anihgl - @nels eULIKHSD
137. Which secretary of State challenged Indian National Congress to draft a consensus based
constitution upon which INC submitted Nehru Report
a. Lord Morely b. Lord Montague  c. Lord Brikenhead d. Lord Simon

6Th & YMhid Geuwl LML QHHWINSHET eM6ETTOl(HSHGSD 6JMHLEDL_L TS WEVenIDLIL] euenTe ] eJDLI(hSS
Ganmflwgmey @il Ca8w sMhdngne Ch(h UM &Hms FNIGSILL L G|

a. el Ly b. wrew_ (& Liny . Uf&&serolamL_LifL d. englpest LML
138. Mahatma Gandhi was referred to as the Father of the Nation first by
a. Jawarharlal Nehru b. Sarojini Naidu c. Thilak d. Nethaji

SMH A HEDET (LpG&H6tT (Gedev @bSlwimalest LIS sTermeurn

a. geuamiieumey Gr(H b. #GymMesfl BT C. Hevsn d. Grgrd
139. Which among the following leaders are not among the extremist
a. Tilak b. Bipin Chandra Pal c. Aurobindo gosh  d. W.C. Banerjee

& p&&eILaligerfev &alrandgert e L 1quieley Gleveurgalr
a. gleus b. Wlder ehggumey c. oralhsGasnay  d. LLiemwy,.d.Lmestig

140. Annie Besant become the president of Indian National Congress in the year

I6tTesl L6t @b Ful CHAW SR TV QUISESSH 6T HHEVAUTTS 6THS 3,&sT(h Q(HHSMT?

a. 1915 b. 1916 c. 1917 d. 1918
141. Who administers the oath of office to the President?

a. Chief justice of India b. Speaker of Lok Sabha

c. Prime Minister d. Vice President.
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WIM(mHewL_Ww (LpesTesiiemevuiey ertmglLg LIGeILLITwnestd 61(n& S C\ameTeur

a. 2.8 HII6IM 696060 K HLIG) b. b&seTenel gLM BIWSHN
C. Ligs Wi d. HiemessT WesTTILIG)
142. Decision on question as to disqualification of membership of either Houses of Parliament

rests with the:

a. Election Commission

b. House of Parliament concerned

c. Chief Justice of India

d. President after consultation with the Election Commission.

LMITE@BL6sTN 2 MLl esTigen S@&aulsir Gy FhHESHSID auhSTe, (g6 OIFUILID S STTLD
TSIWEVEDDLILT 60 WIM(H&H (&) CUPBISLILIL g (H&&H G| ?

a. GHNHev IY,6068TWID

b. LMIMERLETHSH 6T @QN(H DEDEUSET

C. 2 &8 KA Hmevenld I LG

d. GHNGFH6v 2,06 TUISH I 60T FHEVlhGHIMTITL_6V|5H (& Ll6tT 26T LIS

143. The Railway Budget was separated from the Central Budget in the year-

QruileuGel MM eney M GHens, SGH W MG Henew M Henduier @\(hHhG 6TLGCLITS)

dflssiu_Lg)
a. 1920 b. 1921 c. 1922 d. 1923.
144, Impeachment proceedings against the President for violation of the Constitution can be
initiated in-
a. The Lok Sabha b. The Rajya Sabha
c. Either House of Parliament d. The Supreme Court.

QbW A WevenbLIeHL BBIWSNHSTS et AL enW LiGel h&Sh CIELD EFTST 61mhiE
M (PSLLMNSSILL Gaesst(HILD

a. D&&ETen6l b. rMevhigeTen e

C. LMIMEBHLOESTN S 68T 67D 6(h Hemeuulev  d. 2 &&MH FlL6sTMLD

145. Who among the following had the longest tenure as the Prime Minister of India?
a. Morarji Desai b. Indra Gandhi c. V.P. Singh d. Lal Bhadur Shastri.
Qeaungefley Wi Bewt &meuld LIS whHAM Lgaluiler G(HHSTT
a. Gyl Ggemil b. @hanm sk
C. ail.L1.81m d. evrmev LIemGITH SMev G

146. Who was the speaker of the First Lok Sabah?

a. Hukam Singh b. G V Mavalankar c¢. K M Munshi d. U N Dhebar.

Geurtd FepLILI6IT (LpG6v FLIMHTWIST WITH?
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a. aff&& dmkl b. G.V.pauevmiisin ¢, K.M.(pemadl d. U N Ggunmmn

The provision that provides the President to send back a bill for reconsideration is also
known as

QW WETTHLG 6(hH FLL_ eUEDIEDE DM 165G SIEDILIL|eUSMN(E) eUend GIFUILD
IFHHM SIS M& MG

a. Pocket Veto b. Absolute Veto c. Qualified Veto d. Suspensive Veto

The term of Lok Sabah

a. Cannot be extended under any circumstances

b. Can be extended by six months at a time

c. Can be extended by one year at the time during the proclamation of emergency
d. Can be extended for two years at a time during the proclamation of emergency.

GevmdgemLLil 63T HiTeuld

a. 6ThG (FsLpevflemeuuien|d KL 1q HHLL_LDML_L MG

b. 2k (pe®M 6 MG GMEVD QUEDI [5lq&HELIL 6D

C. »jausTy CIK(HESIy Hevevulsst CGLIMG 6(hH QU(HLLD g &HSLIL_6VITLD

d. gjaisy OB(HSSI Hlenevuien GUNGl @TesT(h al(HL LD Bigl L LIL_60MiD

Who is the Chairman of Indian planning commission?
a. President of India b. Prime Minister of India
c¢. Finance Minister of India d. Vice President of India

@hIAW FHL L (@ (el6T Heneveu wim?

a. @@L (G SHemeveur b. @kglw Ligw wiH
C. @hAHw MG eHDFF d. @hglw &IED6sT (GHlgWfd FHemeveall
The 44™ Constitutional Amendment Act, 1978 relating to the declaration of National

emergency requires the President of India to act in accordance with the
a. Collective advice of the Entire Council of Minister

b. Return Advice of the Union Cabinet

c. Advice of the Attorney General of India

d. Advice of the Supreme Court

1978 gyib &1 44618 UTAWEEHLIL L& H(HEHSHSH6 eLpeLd (FHlqN&S Senevali C5F
OB (H&HIy Mevevenwwl LIT&LeTLILI(hSS 61863 i, Beungensuenill 61MHM| G\FuisoLIL Geuesst(hib?

a. L _(h &g u,esfluies emeaTenalul st sal L o CImTaFenseni

b. whesflwesr smliew_Lq601 o EeonFeneueni

C. @A FEDEVEMID QUPG(GHEDTEHIT 6T 2, E6VITF e 6uTEnU

d. 2 &5 BTN SH 6T Y, CeVTFeneTTEnIL

The number of small cubes with edge 10cm that can be accommodated in a cubical box of
edge 1m is
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118 LGS eTe| 2 61T HerTe&T UL Iquiev 67&HGemerT 1001F.15 LISS ETOETET &63TE KINBIGED6T
D6USSH60MD ?

a. 10 b. 100 c. 1000 d. 10000
152. A sum of the interior angles of a Hexagon is

(H RUBIGH MIRICFHTETSH S 60T 2 L CaHTessT BiaTa dell e Fn(hGev Wng)?

a. 360° b. 240° c. 720° d. 180°
153. The side of an equilateral triangle is 4cm. then its altitude is

62(1h FIOLIGS (LpSHCHNEssT & &) 60T LIGHID 4018.18 6T6uflev 218607 2 Wb

a.2v3 b. 4v3 c.8V3 d. 4

154, The outer and the inner radii of a hollow sphere are 12m and 10cm. find its volume
s(h 2_arafL_hm Gamerg et Glalefl HMID 2 61T Y NmiseT (PpeopmGuw 126l5.15 wHmid 100s.15
6T65tl60 DSHEHTNSHH 6T HEUT BIETED6EUS: HITGTI5

a. 3050 2/3 cm® b. 3049 2/3 cm® ¢. 3060 2/3 cm® d. 3059 2/3 cm?®

155. A sum of money is to be distributed among P, Q, R, S in the proportion of 5:2:4:3. If R gets
Rs.2,500 more than S, What is Q’s Share?

@ iUl eztwms P, Q, R, S BHCUMTHSH LB 5:2:4:3 a3  aBHHH 60
BB dbsii LTed GauewiBld. S-ww el R - 5.2,500." .- oPsd Qupleut elafled, Q-1 LIBIG

elalaleT6|?
a. 10,000 b. 7,500 c. 5,000 d. 2,500
156. Simple interest on a certain sum of money for 3 years at 8% per annum is half the compound

interest on Rs.4,000 for 2 years at 10% per annum. The sum placed on Simple Interest is?

R GOIILILL OxTensule 1WgH oL TaEmIGEE 8% aidpsHdled 3 MIBHEHHE SO IQUITS
ATEIgLl  OFHTend 54,000 —HH&T 1BH WOLTSIBIGEEG 10% alndhded 2 HHEHHES
LB eullpursl QupLUGL CFTensuled LTHWTES DeDWUD. salsd, SHeafaully aihHH6 SiF6eD
61607601 7

a. 1,550 b. 1,650 c. 1,750 d. 2,000

157. If the rate of simple interest is 12% per annum, then find the amount that would get interest
of Rs. 6,000 per annum.
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AFT(&HGH 12% Hevfl aully afggdlev ¢H.6,000-2 cmessi(h el lquind 6\&M(h& @0
CFTEDSHEMIIS SHTET5TS.

a. Rs. 82,000 b. Rs. 50,000 c. Rs. 72,000 d. Rs. 45,000

158. The difference between the compound interest and simple interest on a certain sum at 8%
per annum for 2 years is Rs.240. find the sum

Q65sT( 4,655 (NSHEHEE, HET(H&HE 8% alllg aI&S5H 60, (hH OFHTOSHUIET Sal (h aulg
LHMNID Fesllal1qaEnhsHE @eoL_Gw 2 6Tem alSHWLned ¢m.240 aesfller hg O\Fmenaui et
DFLIL| 6T63T63T 2

a. Rs.35,000 b. Rs.35,700 c. Rs.37,500 d. Rs.40,000

159. Alex invested an amount of Rs.8,000 in a fixed deposit scheme for 2 years at compound
interest rate 5% per annum. How much amount will Alex get on maturity of the fixed deposit?

A,GTT(H&(&FH 5% 61651 Fal () aUL_Iquiev, 2 6 T(N&HEHHE Hol6u&eNv eT6sTLIAIN ¢1H.8,000-2
HIHhET el S L &H60 (pSeS(h CIFLATMHNT. hG (LPpHed(h (PFlfie oD CILIM(LDSI,
9|06V LMD CIFTENS WITG?

a. Rs.8,600 b. Rs. 8,620 c. Rs.8,820 d. Rs.8,840

160. A man took a loan amount of Rs.15000 from a bank at the rate of 12% p.a. simple interest.
Find the interest he has to pay after 3 years?

AET(M&G 12% alllqaiggdev emumi 15000 spmhaul auniduler Gmhhg HL6oTns GILHADTT
s16ufl60 et Fevfleu g (peomuliey epsiTm| 3y &ssT(hiGeaf ey CIFMISHID el 1q.?

a. Rs.5400 b. Rs.5600 c. Rs.5800 d. Rs.5000
161. The Asiatic society was established in Calcutta by

a. Warren Hastings b. Sir William Jones

c. Raja Ram Mohan Roy d. T.R.Macaulay

SVSSHFNAN60 YA UIEFFHIGHD OGS

a. eunmyest Gameivig risiu b. & eflevellwid Gmssren

C. @nmonymb GLom&esTymil d. 19.91. &G
162. The main object of Partitioning Bengal in 1905 was

a. To weakers the influence of the Bengal Hindus
b. That the Muslim league demanded it

c. That the people of Bengal wanted it

d. None of these

1905 b get(h eurisll Liflelenestulest (p&aAlul CrISHEID
a. eukIGTeT Qhg|686M 68T ClFIITSHMNS: (&HEOMES:
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b. (peveSid 658 GamMuig)
C. QUBIGTET IDSHSHET 60 G el (HLOLI6TTI
d. @euhmie 67Gle |l ven6y

163. The mutiny of 1857 failed because
a. It was not supported by people b. The Indian princes did not help
c. The Russians helped the British d. The Muslims kept a loof

1857 ylb I6se1(h) S1ULMIG SHevsid CHmevalu|bmgl. eoleurestlev
a. &S YSMN(GH HST6| 0&M1(h&salcvenev

b. @hdw &EFHF BTFNSHET BFMN(G 2 FeUaileveney

C. @rasuingen LML 1qa3$SMNnsEnHd @ 2 Saleu

d. (PSLLHUINSET 5IBIS GN(HIhS6UTH

164. Match list I with list 11 and select your answer using the codes given below:
List | List 11
A. Tilak 1. New India
B. Annie Besant 2. Vande Mataram
C. Gandhiji 3. Kesari
D. Lala Lajpat Rai 4.Young India
QUM(HSS15:
A. Sevai 1. yHw @it
B. gstresliOlLsesor gybepwowini 2. alhGS LDMGITID
C. anbdlulig s6T 3. Gaaril
D. eumeurm souISI il 4. @emermul @b
Codes:
A B C D
a. 3 1 4 2
b. 1 2 3 4
c. 2 3 ) 4
d 4 3 2 1
165. Arrange the correct chronological order?
1. Montague Declaration 2. Komagata Maru Incident
3. Khilafat Movement 4. Rowlatt Act

LstTau(md B spe seneT sMwns euflens ii(ngs\s?

1. IeRTCL (& UM &Hns 2. GaM&NG LOM(H FbLAID

3. deumug QUIGSLD 4. Gpemevl_ FL L _Lb

a.1,23,4 b.2,1,3,4 c.1,342 d.2,1,4,3
166. The Boycott of Simon commission movement in Tamil Nadu Led by

a. Rajaji b. Sathyamoorhy c. Kamarajar d. Periyar
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SRS SH L OFO6IT HLBlaP60T 6T CUIMTTL L SH65G Hem6venld SIS HL_GFliedn wimi?

a. gmyned b. #58wewpis g C. SMITN d. Gurflwr
Which one of the following leader composed the Bangladesh national song ‘Amar Sonar
Bangla’
a. Bankim Chandra Chattarj b. Dadabhai Naoroji
c. Bipin Chandre pal d. Rabindranath Tagore

aunigneT Gge&dlent CHH W LIM_eurmert " of G&MesT LikiGaTmened” Guimmluwieut wirmi?

a. usEIh ehAT L 129 b. gngmuml GimerGrmed)
c. L6t &R rumev d. 1l pAnenng Gngmn
Which one of following statement is correct regarding South Indian Revolt
Revolt Control by
1. Vellore mutiny - Captain Campbell
2. Pulidevan Revolt - Colonel Gillespie
3. Veerapandia Kattabomman Revolt - Major Bannerman

Qg6 @iguw LrLdl uhmlw Lealpd gahmiseafen 618 &f?

L& IIL_&F YmiIFlev Gl &l
1. Gaugpnn LmL_& - GaLIL_6tT BSHLDGILIL
2. 4l &G a6 LTL_& - G636V &l 6v6ev6IuLi
3. afgunessTiqul &L GILMboest LyL_&l - Gogom LimesTAGLO68T
a. 1 only b. 2 only c. 3only d. All the above
Which Nayak Ruler shifted the capital from Trichy to Madurai
a. Vishwanatha Nayak b. Thirumalai Nayak
c. Sevappa Nayak d. Ragunatha Nayak
61hG HMLGS DTEM, SH6UTH| FEOBSHM] I (HhFS U6 (HhHG| LHIEDTSH ) MM 6sTTI?
a. alenealnTg HTwsS b. l(mevev HMWLGS
c. Gaaulil BMLSHS d. 7(® B BTWSS
“War of the Noses” took place during the reign of
a. Krishnappa Nayak b. Rani Meenakshi
c. Thirumalai Nayak d. Rani Mangammal
PSS ML GUITT WIM(HeBL_ &TevSdev bL_hSHG!?
a. F(HOPETLILI BTWSSN b. @nmessil w8
C. BNV HMULISGSIT d. @nmessil OBIGLDLOTEIT
By which of the following Amendments, the Indian President is bound to Act according to

the advice tendered to him by the Council of Minister?
a. 42" Amendment  b. 44" Amendment  c. 45" Amendment  d. 46" Amendment

&GP QEHMNSHSHILLL. TdlwlevsnibliLg &l(HSSmiseMe 61hg &(HhSSS SN 6L QLA (Sl WTES
Fewevall eo&aTenelLies o Cengenesulesr Guifev SL_Lmub GlFuiso Gealesst(hib?
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a. 42eaug| Ydlweveniolll] FLL SH(HSHSD b. 44615 ordlieveniolil] L S (HSHSD
C. 45618 opdlwevenibliL] FLL 5 (Hh&HSD d. 46615 THAWOLL| F_L FI)(HSSHLD

172. Who is the Speaker of Sixteenth Lok Sabha
a. Bala Ram Jakhar  b. Sumitra Mahajan c¢. Meira Kumar d. Somnath Chatterjee

LIFETTMTMMTEUG)| DSHSHETENEULN 65T FLIMHMTULIG WITT?
a. ueunnib W&&n b, &SI wexest  C. WM G d. Gem B1G gL

173. Who was the Prime Minister when for the first time No-confidence motion was moved in
the Indian Parliament?
a. Jawaharlal Nehru b. Indira Gandhi
c. Morarji Pesai d. Lal Bahadur Shatri

BLOLISHEn&UN6060ME FADTEETID (PGHETT (PSS @BSIW HMTL_MEHeTN& Gl 60 O1&M6ssT(h) alhSoILIM(LD&I
L& whHMWTe @\(mihgeur wiri?
a. auserew Gr(mp b. @pBINT k) c. Qumymigd Ggemi d. eumeVLIGGITT Fevg

174, Who said that ‘Prime Minister in the captain of the ship of the State
a. Munro b. Ramsay Muir c. Jennings d. H.J. Laski

LTS WhSHM, T8 6TaIS 60N HLILIES 65T GHLIL_60T 6160TM)| FnMflwieun wimi?
a. essT@rm b. gmbGs epn c. OiggetTesfirien d. e161v.G20.6uMEVE

175. The Vice President of Indian is elected by
1. The Member of Lok Sabha
2. The member of Rajya Sabha out of these

QhLALTEIN 6T 5I606T (&\qUWTE SGen6valsn] CSKholG(HLILIG)
1. w&GaTem6al 2 ML 6uTn&6i
2. 10T M 6VBISETemN 6 2 ML 63TS 6T

a. Neither 1 nor 2 b. 1 only c.2only d. Both 1 and 2
176. Arrange the Chronological order of the following Vice-President

1. Bhairon Singh Shekkawat 2. K.R. Narayanan

3. Mohammed Hamid Ansari 4. Krishna Kant

& LPGHEHTL GI6OEST (Hlq TGS L 6nevaliSHena HTevellenaLliLig 61(LD5)5?

1. eouGHmenT Ak OeSTeUS) 2. B&. Y. BTG 63T
3. (Pp&IG| amis S 6ot 4. F(HOPETTHTHS
a.3,4,1land 2 b.2,4,1and 3 c.1,3,2and4 d.4,2,3and 1
177. Which one of the following Article says, the Vice President presides over meetings of the

Council of States?
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a. Article 89 b. Article 90 c. Article 87 d. Article 88

Ll 63T 6(HeUeTT UM MIGIT 6TH G NTSWEVENOLIL] FL L 63T 5G| SO (SHIqUITS FHenevaul
LOMB 6VBISHETEN6N Fnl L _HIGEHSHE) SHEHEVEHLD FMEIGEUT 6T63T FamIS M7
a. 89aug| a315% b. 90aug 30581  C. 87615 o755 d. 886aug| 637153

178. In which one of the following dates, was the Supreme Court of India was inaugurated?
a. 26" March 1950 b. 26™ February 1950
c. 26" January 1951 d. 28" January 1950
LesTau(mID 6THG HTefev QA 2 &5 B WeTMID O\FTL_MIS DeUSSHILIL L 5|
a. 261 we g 1950 b. 261b wreT LILpeurfl 1950
C. 261b meiT Merteuril 1951 d. 28ib w6 Mevrauril 1950
179. In India, who formed the First coalition Government?
a. Deva Gowda b. V.P. Singh c. Moraji Desai d. Charman Singh
@iglwnaie (pGev sal L 6wl YL Henwl eonGGealt wrn?
a. Ggal e b. al.1.5% c. Qumymigd Ggemi d. sreseT Skl
180. Under which Article, the Dead lock may be resolved by a joint session of the two houses of
parliament if there is a disagreement between two houses of Parliament regarding the passage of a
bill
a. Article 108 b. Article 107 c. Article 111 d. Article 121

61hS DTSWEVEMIDLIL| FL L e3NHSH 60T S1p 6(h DEBFTHTen6l HeomGalunmials O\GmL_ims,
LIMTTMEHLOETN S S 65T @)1 H6maUSHEHHGHL 60 Bl 6THLIND (LpL_(HSSL_6mL_ LITITEHLO6STN & &) 65T
Q(H I 6uGel6sT Fal_(h FLL &I 60T ppeuld &1&G| 60eUSSLILIHID?

a. 108aug| 301855 b. 107615 3055 c. 111ag| a3n58% d. 121615 a3155)

181. A circular ground of radius 7m has a path of width 7m around it on its outside. The area of
the path is approximately equal to
718 S T(LPETET 6(H UL Qllqal 6DGT6sTSHe0G &HM Geueflumid 718 985608560 6 LITeNS
266G 6T63fl60 LIMEDSUI 68T LITLILIGTE]
a. 154 sq.m b. 308 sg.m c. 462 sq.m d. 616 sg.m

182. The volume of a cube is 125cm?®. The surface area of the cube is

6(IH ST EGINSHF 65T GerT jena] 125 Geur.0l.18 676160 BG6T LMULITLILIOTE]| 6T6U6IETE|?

PageB 2

a. 625 cm? b. 125 cm? c. 150 cm? d. 100 cm?

183. A hemisphere and cone have equal bases and equal height. Then their volumes be in the
ratio
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184. One diagonal of a parallelogram is 70cm and the perpendicular distance of this diagonal

185.

186.

187.

188.

189.

THE IMPACT IAS ACADEMY

6(1H OTSHBSHMET(LPLD, FalDLID G gL L_(1pd, 6B 2 wiy(pld GIMHM (HLILI68T yeumm 6t
&6vT 9iema|Serfl 60T il & HLb

a.2:1 b.1:2 c.3:2 d2:3

from either of the outlying vertices is 27cm. the area of the parallelogram (in sg.cm) is

(1H QEOETIHISI 60T 62(H eLpemevail_L_Gglerr Bembd 706l&.18 CeIDd Bihd eLPeneVailL L D6 S
HM @)K 2 & &eMed(Hhgh 27018.18 6l6HIGHESIS OFHMTEalNIETaTS|. HUILIGUITEITTE hd
Qenesst&TSH 60T LITLIL| (FHIT 01F.15) -60

a. 1800 b. 1836 c. 1890 d. 1980

12 spheres of the same size are made from melting a solid cylinder of 16cm diameter and
2cm height then the diameter of each sphere is

1605.18 &l L (b 2015.15 2 WF(pLd CISTETL. 2 (HeneTenl 2 (Hh&dH 12 &0 CHTeTmhIS6T
QELIWLILIH& 65TMEST. speubleu(h CHMenSlesT aill L LD 6T6oT60T?

a.v/3cm b. 2 cm c.3cm d. 4 cm

If the side of a square is increased by 5cm, then the area increased by 165 sqg.cm. the side of
the square is

(I FHITSH 60T LI&SSF 65T HemSeng 56lg.10 & aMoGn Cung g6 Ll 165sg.cm
&M &FMG) 61651160, IhG FHITHS 66T LISSHS 60T 56D

a. 13cm b. 14cm c. 33cm d. 12cm

If the area of an equilateral triangle is 4v/3 m?, then its perimeter is

Q(hH FLLSHS (P&HESHTesT HI 60T LITLIL| 43 m* erevfien IID(PSHCHTEET S| 63T FNMETE]|

a.16m b.12m c.18m d.9m

If the volume and surface area of a sphere are numerically the same, then its radius is

6(1hH CHMETG S 6T QUEHELILITULID SH63T BieMald FLob 6T6ufl6r G68T YD ?

a. 3 units b. 2 units c. 1 units d. 4 units

Area of a rectangle one of whose sides is 6m and diagonal 10m is

6(IH OFEUAIGS 6T 6(IhH LIGSHLD 615 HMID NG6ST epensvail L b 1015 6T6sfley g 6ot LTLiLeTe?
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a. 60 b. 48 c. 30 d. 68

190.
times the shorter side. The length of the carpet is?

(I LlFeuals Geny alfliier LTlLeTe| 60 1p® G607 HEMDMENT LGHAWD 5 OL_MBiG HerailhE

&b eTesflev, Gewy elMuien Hearb wng|?

a.5m b.12m c.13m d.145m

191.
1. Rani Mangammal
2. Achutappa Nayak
3. Aluri Kuppanna
4. Serfoji — 1l

Which one of the following is correctly matched
- Uyyakkondam Canal

- Battle of Talikotta

- Andhara Kalidass

- Saraswathy Mahal

Liesteu(Bd Fambmisefley 615 &ifl?

1. @NessTl RISLDHLDTET - 2 WIS CSHMESSTL_TEST HMTeVEUMLL
2. 9IFHSIL HMLSSH - &m6v& GaHML_emL_ Gumn

3. IEBMs GLILiesTestT - HHAT Sefl Gnan

4. gnGumzd - I - &J6lvalg) Dammev
a.1,2,3 b.1,3,4 c. All the above d. None of these.
192. The Governor of Madras Presidency at the time of Vellore sepoy mutiny was

b. William Bentinck
d. Robert Clive.

a. General Gillespie
c. Cornwallis

Geueon LTL_Slulett GUIMG| ClF6T606UT DTSHMEIST Y, EVBIHM WM ?
a. gemugl @e6veveivLil C. alevedlwid CILIeHsTIq kIS
C. e eUmederv d. @umun_ dlemermen

193.
a. 1799 Oct 8

In which year was kattabomman hanged

b. 1799 Oct 16 c.1779Jan 1 d. 1799 Jan 16

SL_L_OILIMDLOEST SIS LI L 6581 (h)
a. 1799 966Lmun 8
c. 1779 evaufl 1

b. 1799 96@Lnmun 16
d. 1799 wewraurfl 16

194.
a. Viswanatha Car
c. Sevappa Nayak

Who was the naik king responsible for the invasion of the Muslims on Tamil Nadu
b. Tirumalai Nayak
d. Achutappa Nayak

(P61VESD&6T SO LPHITL I 63T 15 G LieHL_6lWi(h&& SHMIEIDNG @V (HhS HTUISHS DESTEs?
a. aleveupTg HMLSHS b. g(penev HMWLSSN
c. Ggeulil BMLSHS d. 9IFHSIL BMTWSSN

195. Where did the British defeat Virapandya Kattabomman’s army?

A rectangular carpet has an area of 60sg.m. its diagonal and longer side together equal 5
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a. Kallarpatti b. Singa Puneri c. Madurai d. Sri Rangam

oIS Geullnig6m e FLIMESsTIq W SLL_GILIMDLOEsT 63T LismL_6oWl 6ThG @I &&6v CHMTMaIq &G 60T ?

a. semeiuLLg b. Arsl yesrf C. IDGI6DN d. hImHIs0D
196. Match list I with Il and select the correct answer
List | List 11
A. Warren Hastings - 1. Treaty of Mangalore
B. Sir Jhon Shore - 2. Hafiz Rehmat Khan
C. Dost Muhammad - 3. Policy of Non intervention
D. Lord Macartnay - 4. Lord Auckland
QUM(HSS15:
A. aumyesr Gamerlg raien 1. IDRIGREHI 2 L 60T Lilg H608
B. & gomest Gagri 2. amLien N&HDOGHM60T
C. Ggrmevg (psbG) 3. smeuuiLT O\&MeTens
D. Qussmi_Gesr Ly 4. o Gevesst LTy
A B C D
a 2 3 4 1
b 1 2 3 4
C 3 4 1 2
d 4 1 2 3

197. Consider the following statement

198.

(A) Under British rule in Zamindari system land lords charged heavy rents from tenants.

(R) Under Zamindari system population grew, Villages decayed and demand for lands also grew.
a. Both A and R are correct and R is correct explanation of A

b. Both A and R are correct R is not correct explanation of A

c. Alis true but R is false

d. Ais false but R is true

(A) UfMlige L dAules &1 2blhS T (pepmuiley Mev LITLSHS6T §SF0HSTIML LS (Hh& NS &
GHSSHMG 61(F560 S SIS 6T

(R) GwmLig oL fAulev ik (pepmuieh &S 01&Tend GILI(HEE(PLD, S FMhiger 6
Qe eFHLL L ST6v, alemer Kevmiseflsnr Ggenel GCILIHE WS

a. (A) bmHmib (R) Y Hwenal 2 _astend, eumev (R) 616U (A) 648G FMlwmes aleméHsn

b. (A) bHmibd (R) QA weneu 2 ststenio, eurmev (R) et6tTLg) (A) 6&@ 2-Mw allendanevey

c. (A) &, g evmev (R) geum)

d. (A) saumi, sevmev (R) &

The office of the Divisional commissioner was created in the year 1829 by?
a. Lord William Bentic b. Lord Curson
c. Lord Wellesley d. Lord Warren Hastings

18291D y,6801(h CGHMLL. YL STl YVIQUNSHSEDG 2 (HeUTSHE WLier
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200.
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a. ellevedwid OLIessTIq MG LT b. sigswr LY

C. Gleusvolevsuel LImLy d. aungest Gammeivig.rmiev
Which one of the following is correctly matched

a. Ettayapuram - Collector Ashe

b. Jallian Walah Bagh Tragedy - Hunter committee

c. Swaraj party - B.G. Tilak

d. Alcohol prohibition - V.0. Chidambaranar

ﬂmeu([r,eumeug)gjm 615 ellwnsg Qun@[r)g_;‘,]ume\)gﬂ

a. et wiiib SOIVGL_IT 2,609

b. gomedlwest eumeumImg GuiLd - QMGISTL_M Sl g

C. srfmMdw &gl - L9.29. glevasn

d. ngaled @ - 6.2 .81 GLbLIT6uTi
Who was the English general who defeated count-de-lally in the Battle of Wandiwash in

1760?

a. General Haris b. Gerneral Hamitan

c. General Sir Eyer Coote d. General Forde

&66HTL_-1q -6umedlemil 176060 HewL_OLIMHM auhGeaunsl CUNNGHETSHH 60 CHMMEIG HG I Mhis Geuwl
LI6OL SETLIG) wimi?

a. gerug) ammrflen b. getugl ammdleoL_6st

C. SOTUG &1 WM Fal d. gerug) sGum_
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